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FRBREARRE R TXET TXET T EF TXET
| D MIX D WIX HIE ) N ZI0E
AR FISAT X FISAT X FISAT X FISAT X
UFOJ7 AL & hy21 hy21 hy21 hy21
UFOF —7 A F*—F k& T IV AE T IV AE
EX:Di3
1= T mm 7,900 7,900 7,900 7,900
[E] B mm 270 270 270 270
S Boa mm 220 220 720 720
P D mm 162 162 162 162
9T IxY Ds mm 779 779 779 779
ERES | Doa mm 250 250 250 250
g
(hAE= Wri kg 6.0 15.6 6.0 15.6
E ke *05 *0.1 *05 X0.1
BEK= \% ke 94.5 945
BAYES Wri ke 76.0 6.0 6.0 76.0
BT Wr ke 75.0 75.0 60.0 0.0
VI A Wc kg
F—IU Wo ke 35 3.5 35 3.5
B R=G51 5=
[BZ7K d mm 07 974 ! 34
K= BwL mm 260 260 254 254
AL S m 2.08 2.08 700 7.02
T8 2 JE TE
¥ -73E% KM mm 720 720 727 721
F=I-V—F KS mm 215 215 205 205
Ni—3—917 FEIG OM mm 26 76 37 37
Di—3—717-Y—F 03 mm 721 121 727 121
U= 733 SM mm =05 —95 —87 —84
A
VT R Fs mm 68 68 78 78
NOT VX 52 Fs mm 85 85 95 95
IEI A3 Fa mm 756 756 766 766
DEZE B
Th —A7 UYF RS mm 795 795 785 785
DESEHE] mm *15 18 —21 x15 18 21
T—)BF Ak SR mm 775 175 750 750
SHAE mm 165 165 740 740
EESEHE] mm +20 *20 +70 +20
E=lL-v—F 5 mm 750 750 740 140
EEGEAE] mm *25 *25 +75 +25
ZFAT AT AN =X Pa mm 700 700 700 700
AFUYFA—AN =X Ps mm 700 700 650 550
0—197 AN =X Pr mm 7400 7400 7350 7350
- EE - mm 800 800 800 800
T=ILT—1\ K mm 15 15 15 75
T=TAI— W1 mm 700 700 700 700
D] mm *75 150 —120 *75 150 —120
Ev-E=IL mm 450 450 700 200
D] mm +0.-220 +0 223 +0.-220 +0 -223
AN Fr— AR 7] deg 42 42 42 42
] B B0 B deg 34 +8.0 —4.0 F3-4 8.0 -4.0
R TARITE
REMTE O /L/W mm/mm/kg 8/5000/20 6.52/20% 8/5000/20 6.60/20% ¢
T CURIE B /L/M deg/mm/kg,m
JH—HRITE 0 /W mm/kg 13.0/10 11.19/10%g 13.0/10 11.25/10%g
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